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ECO-011 

BACHELOR'S DEGREE PROGRAMME 
(BDP) 

Term-End Examination 
June, 2019 

(Elective Course : Commerce) 

ECO.11 : ELEMENTS OF INCOME TAX 

Time : 2 Hours 	 Maximum Marks : 50 

Note :Attempt four questions in all. Question No. 1 
is compulsory. 

1. On the basis of the following information, 
compute the taxable income of Mr. Saurabh 
under the head 'Salaries' for the assessment 
year 2018-19 : 14 

(i) Basic salary t 40,000 per month 

(ii) D. A. t 6,000 p. m. (Computed for 
retirement benefits) 

(iii) Tiffin allowance t 375 per month 

(iv) Night allowance t 225 per month 

(v) Own contribution towards R. P. F. t 45,800 

(vi) Employer's contribution t 61,000 

(A40} P. T. O. 
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(vii) Interest on P. F. during August 2017 

Z 42,900 (4) 13% per annum. 

(viii)House rent allowance ! 7,200 per month. . 

Rent paid for the houses Z 1,00,000 p. a. 

Free supply of water and electricity. For 

which payment was made by the employer 

Z 42,000. 

(x) His employer provided him a motor car (1.6 

litre cube capacity of engine) for his official 

as well as private use. 

(xi) The company gave in gift a laptop of 

Z 25,800 to Mr. Saurabh on its founder's 

day. 

(xii) Mr. Saurabh paid actual expenses Z 3,200 

relating to tiffin. 

2. What do you mean by 'Provident Fund' ? 

Discuss the different types of provident funds to 

which a salaried employee may be a member. 

4+8 

3. Mr. Arun is a member of Housing Co-operative 

Society in Delhi and resides in half the portion 

of the house under Hire Purchase Scheme of 

the society. The remaining half portion is let 

out @ Z 5,000 p. m. The fair rental value of the 

(A40) 
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house assessed by the corporation is Z 90,000 

per annum. Local taxes paid in respect of the 

houses amount to Z 8,000. Expenses incurred 

include fire insurance premium Z 1,000 and 

ground rent Z 2,000. Interest payable to society 

is Z 4,700. Total other income of Mr. Arun is 

Z 1,24,000. 

Compute his 'Income from House Property' for 

the assessment year 2018-19. 	 12 

4. What do you understand by 'Transfer of Capital 

Asset' ? State which ten transactions are not 
regarded as transfer. 	 12 

5. What do you mean by clubbing of income ? In 

what circumstance is the income of one person 

treated as income of another ? 	 12 

6. Write short notes on any two of the following : 

6+6 

(a) House Rent Allowance 
(b) Gratuity 
(c) Interest on securities 
(d) Municipal taxes 

(A-60) P. T. 0. 
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*a-  : 	wrr Tr4-4 	3-42-  croN I 3Thrq Titzrt 
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1. F-14-1 	 * arkiR IR frt. 

. -1-fitriTur 44 2018- 19 	'tdq' 

3i4ff 3117 VTR WAR : 	 14 

(i) z c aq1 40,000 ledrIT 

	 Tr 9T t 6,000 31fiN16 ( cti 

	 .411 e4 fitiles1 	Frieit 7MT *) 

fet9.  TMT 375 '51tRTW 

(iv) * %TM 225 sird4ii6 

  	 *Km (v) Imirom mlal 	 91us 
t 45,800 

(vi) fi**1 	afmri z 61,000 

(A-60) 
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(vii) aTITRI 2017 ' WIT f*-711 1TZIT 51 q 

TR WA' 42,900 13% Sit A'Ef V 7 *I 

(viii) 3111:4 1:K13 rcutitu 	7,200 u 

ITC-4 * ftit NAN( fqrn t 1,00,000 IA 

act! 

(ix) tn-41a f'.rwrl1 	fff:71M likt11 Atichf 

nird19' ritt)tof A % -AT z 42,000 I 

(x) TA* ricilcol A z4 404(14 Wt11 04 ctoild 

31-4)7i* 	-171-a W.( (1.6 rilet 

(xi) m+-m-il 	itw 25,800 *T 	44) 441 * 

Tilx1FIRT isqt4 ' #1. 1:11KTI 	d461( 

?m 

(xii) frt. Tfrrq A fefERwarf-Ard clit-0 014) 

VT4 * 3,200 TrdN f*-711 

2. ilfamaT ?1ST (Provident Fund) t *T EM WIT 01c44 

* ? 	c10-11ill1 	 rctin4 'SW( V' 'Ilf-dizr 

i9Still 1:KM t *mot ? fgagtilViWkl 

4+8 

(A-60) P. T. 0. 
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3. frt. 3R14 Rc \-11 	'7W 41 ctwf wir4 atol +16.4)11 

Trfrrf-d wr TR-1:4 * afrt Trfltd.  f*-k-r4r wzT treu 
* 	fe-4   * 31 4 iTFTf 	lzr4i 

	 aft Axf 311t1T tITTT 5,000 ITIfTW f*-774 

xR 33T fcEIT *1 4-mi4iroctlf R1 Tr &nil' 

	 fffi7FIT 	 90,000 gag) ffftift fmai 

IFIT 	 TeRtzi W{ 7 8,000 T*71T1 
oqqy 	14_1 imavarim 	3Tr9  
m 	1,000 .2/1 	r f*-7RTT 	2,0001 Tlirfffi 

tzi cti 4,700 *1 t. 3W1T 	31 	aTrzr 

1,24,000 *1 

A-Ei 2018-19 

aTizi t  qii 	den 	IvT 	 1Torit 
WwR1 	 12 

4. 'Wei 	II-Kill' 	aucrwr wrr aTivrzr * ? f*-1 
41 	z1 w «Ad 	arzf 

1:11-4 •11101 	? 	 12 

5. aTrzi 	ti3finchtur 	airrnT wit oic44 * ? fi 

aiwfa. 	oeirm 	agzi 

«afm 	aim 	-kuriirf 	wd/ 	? art to 

WIFTRI 	 12 

(A-60) 
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6. 14—irriiiso 	fa,-a 	TAM.  izwfuNt 

furgER : 	 6+6 

(T) 	i-t f*-7:11 TIM 

(V) 	 (gratuity) 

(7) Vfalitt 	041N1 

CEO rillttilklehl TT 

ECO-11 	 11,000 

(A-60) i 
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